111.1 Decline the following participles

A: Present active participle: masc. €pebilw, vex, annoy

nom sg. | £pebilwv nom pl. gpebilovteg
gen. sg. | épebilovtoc gen. pl. EpedLlovTwy
dat. sg. | €pebilovtL dat. pl. gpeblovteaal (épilouot)
acc. sg. | €pebilovra acc. pl. gpebilovtag

B. Present active participle: fem. épeBilw, vex, annoy

nom sg. | €pebilovoa nom pl. | épeBilovoal
gen. sg. | €pebilovong gen. pl. | épebilovodwv
dat. sg. | épebilovon dat. pl. | €peBilovong (1)
acc. sg. | €pebilovoav acc. pl. | épebilovoag

C. What three forms of the neuter participle of €peBilw differ from those of the masc.
1-2 nom. & acc. sg. £pebiov
3-4 nom. & acc pl. £pebilovia
D. Will the (2nd) aorist participle of @yw (having led) use the same endings as the
present participle or of those of the aorist of A\Uw? How can you tell?
It will use wv, ovoa, ov, as you can tell from the third pr. pt. jyayov.

(butwith the accent over the w/ou syllable).

E. Provide the nom. and gen. singular of the future active participles of £pebilw

MASC FEM NEUT

nom. sg. | £pebiowv épebBioovoa gp€OLoov

gen. sg. | épeBioovtog g€peblooviong gpebilovtoc




